
What is the genotype of a human female
 XX is the genotype. think of it this way;; 
if you got a y, you're a guy. 
it rhymes. 
males are XY. XX for females, XY for males.
Which of these factors make hydrogen fuel cells a better option than burning fossil fuels
Muslims fast in memory of which event during the holy month of Ramadan? the birth of Muhammad in Mecca
Muhammad's destruction of Arab icons in the Kaaba
the Meccans' acceptance of Muhammad's teaching
Muhammad's first revelations from God
In a litter of 7 kittens each kitten weighs more than 3.5 oz find the possible total weight of the litter
If the volume of a spehere is 2304pi cm cubed, find the radius and the surface area
The sentence, "He won't never go to practice," is an example of what error? .
Consumers in Georgia pay twice as much for avocados as they do for peaches. However, avocados and peaches are equally priced in California. If consumers in
both states maximize utility, will the marginal rate of substitution of peaches for avocados be the same for consumers in both states? If not, which will be
higher?
What is one benefit of a nonrenewable resource, such as natural gas? A. Generate large amounts of electricity

B. Less expensive overtime

C. Produces pollution

D. Will run out eventually
Someone plz plz plz help me i will give medal and 5 stars
Six more than the product of 21 and a number
Winning which World War II battle allowed the Allied forces to protect strategic locations for trade and resources in the Mediterranean region? Battle of El
Alamein
Battle of Stalingrad
Battle of Britain
Battle of Midway
What is 27cm added to 1m 80cm
In file hashing, a file is read by a special algorithm that uses the value of the bits in the file to compute a single large number called a ____ value
Kane planned to build a 53-centimeter-tall model of a building. He later decided to increase the model's height to 159 centimeters. What was the increase of the



model's height in centimeter. FIRST ONE TO ANSWER WILL BE MARKED BRAINIEST
Based on Charles Waddell Chestnutt's "The Wife Of His Yout. Which of the following statements about Mr. Ryder is true? Choose all that apply. a. Mr. Ryder
inherited the wealth that gives him upper-class distinction.
b. At the conclusion of the story, Charles Waddell Chesnutt wants readers to see the redeeming qualities in Mr. Ryder.
c. The wife of Mr. Ryder's youth could never be a member of his exclusive society.
d. Mr. Ryder marries Mrs. Dixon, disowning 'Liza Jan
Daniel painted the dashed lines on a new stretch of highway. Each dash was 3 yards long. After each dash, Daniel left 5 yards of space. Then, he continued
drawing dashes followed by space. There are 1,760 yards in a mile. How many dashes did Daniel paint in each one mile stretch of highway?
The recommended daily intake of potassium (K) is 4.725 grams. Assuming that every raisin contains 3.677 milligrams of K, how many rasins per day would a
person need to eat to meet the recommended daily amount of K from consuming raisins alone
The wavelength of a specific photon in the x-ray is 5 x 10-9 meters. Given that the speed of light is 2.998 x 108 m/s, what would be the frequency of this x-ray?.
. . . A.14.99 x 10-1 HZ . . . .B.0.5996 x 10-17 HZ . . . .C.1.499 x 10-2 HZ . . . D.0.5996 x 1017 HZ. . .E. 1.499 x 10-4 HZ.
What is the measure of an angle formed by the angle bisector of a given angle and one of its sides: 171°30'
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